Angelholms BS

Torsdag 2022-12-01

Partavling, 6 bord, 12 par. Antal brickor: 22. Medel: 110.0.

Plac  Par Poang % Namn MID Klubb
1 8 149.9 68.15  Inger Hinterlach - Ulla Holmgren 46536 13203  Angelholms BS
2 6 144.5 65.69  Kerstin Karlsson - Kenneth Broberg 52685 46516  Angelholms BS
3 12 126.1 57.32  Nancy Westerdahl - Rolf Nilsson 5483 2674  Angelholms BS
4 1 113.0 51.35  Gunnel Ojelund - Eva Simre 26737 53908  Angelholms BS
5 10 108.7 49.40  Malou Magnusson - Christer Zetterlund 41841 59660  Angelholms BS
6 2 105.7 48.03  Siv Ekelin - Jan Nyander 59688 42886  Angelholms BS
7 11 102.6 46.65  Christina Carlander - Kurt Lindvall 30382 60568  Angelholms BS
8 4 99.6 45.29  Gunnel Svensson - Gullveig Borgqvist 59658 65320  Angelholms BS
9 7 97.7 44.40  Ingbritt Ithammar - Sonja Eriksson 65685 53119  Angelholms BS
10 5 94.2 42.84  Inga-Lena Envall - Corinne Gerritsen 59670 82961  Angelholms BS
11 9 91.8 41.75  Ola Svensson - Karl-Otto Waara 21351 46227  Munka Ljungby BS
12 3 86.1 39.14 Monica Persson - Marielouise Hultin 46547 45011  Angelholms BS
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8 10 3NO-3 &4 300 100 00| 7 3 4vy N= a7 420 90 10| 6 1 4vV-3 &5 300 80 20
12 4 3NO-2 45 200 80 20|12 4 4v N= v3 420 90 10| 8 4 4v 0-3 43 300 80 20
5 11 4v V-1 9 100 6.0 40| 5 11 3v N+1 7 170 40 6012 5 4v V-3 *A 300 80 20
9 6 34N-1 vQ -100 40 6.0 8 10 2v S+2 +A 170 40 60| 3 2 540-1 v7 100 40 6.0
7 3 INV+1 ¢9 -120 20 80| 9 6 3y N+1 a7 170 40 60| 9 11 3¢ O+2 v7 -150 20 8.0
2 1 2NV+2 44 -180 0.0 100 2 1 2¢vS+1 +A 140 0.0 100(10 7 4v V+1l aA -650 0.0 10.0
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11 2 14 N+1 +vQ 110 50 50|12 7 44 O= +8 -420 40 6011 7 6NS= v3 1440 70 3.0
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1 3 INO-1 ¢+5 100 50 50| 7 6 INN= *3 90 70 3.0(10 5 3vy N+3 +A 230 6.0 4.0
11 7 INO-1 +3 100 50 50|10 5 INN= »3 90 70 30| 1 8 3vyN+2 3 200 20 8.0
12 8 2 N= v7 90 20 80| 1 8 INN-1 3 -50 10 90| 2 4 3vy N+2 3 200 20 8.0
9 4 INO= +3 -90 0.0 100(12 9 INN-1 *3 -50 10 90| 7 6 3vyN+2 +A 200 20 8.0
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2 9 44 N+2 &9 480 6.0 40| 8 7 3¢V= a7 -110 100 00| 1 7 3NV-1 +6 50 10.0 0.0
3 5 44 N+2 ¢3 480 6.0 4.0|12 10 2NO= a2 -120 80 20| 4 6 440-= v] -420 6.0 4.0
8 7 44 N+2 &9 480 6.0 40| 3 5 3¢ 0+1 &J -130 50 50| 5 2 440= ¢ A -420 6.0 4.0
11 6 44 N+2 &9 480 6.0 40| 4 1 3¢ V+1l a7 -130 50 50| 9 8 44 0= ¢ A -420 6.0 4.0
12 10 44 N+2 ¥5 480 6.0 40| 2 9 2NO+1 42 -150 10 9.0| 3 10 44 O+1 +A -450 20 8.0
4 1 44 N+1 5 450 0.0 100(11 6 3¢ O+2 &7 -150 10 90|12 11 3NV+2 ¢4 -460 0.0 10.0
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